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Serial #: ________       ID _____________ NAME _______________________________________ 
Show all necessary steps for full marks. 

Question 1: (5 points) (2.8 Example 8):    Find the inverse of the function 
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Question 2: (5 points) (2.8 Exercise 62):  Find the inverse of the function 2 1 ( ) ,   

2
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with its domain. 
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Question 3: (5 points) (4.1 Exercise 34):  Graph the function 3( ) 6 xh x = − and state its domain, 
range and asymptote. 
Solution:  3( ) 6 xh x = −  
Domain ( , )= −∞ ∞      Asymptote: 6y =             Range ( ,6)= −∞  
 

                                              
       
  
 
 
 
Question 4: (5 points) (4.2 Exercise 8): Given ( ) 3xf x e −= − . Graph the function by starting 
from the graph of  xy e= . State the domain, range, and asymptote. 
 

Solution:   ( ) 3xf x e −= −      Domain ( , )= −∞ ∞      Asymptote: 3y = −             Range ( 3, )= − ∞  
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